

Commutative quantales and commutative quantale frame

JU-MOK OH, YONG CHAN KIM

Received 12 August 2011; Revised 29 September 2011; Accepted 07 October 2011

ABSTRACT. We introduce the notion of commutative quantale frames as a viewpoint of relational semantics for a fuzzy logic. We investigate the relations between commutative quantale frames and commutative quantales. We study their properties and give their examples.

2020 AMS Classification: 03E72, 54A40, 54B10

Keywords: Fuzzy partially ordered sets, commutative quantale frames, commutative quantales, Alexandrov topologies.

Corresponding Author: Yong Chan Kim (yck@gwnu.ac.kr)

1. INTRODUCTION

Mulvey (See [1, 2]) introduced Quantales as the non-commutative generalization of the lattice of open sets in topological spaces. In fact, a commutative unital quantale coincides with a complete residuated lattice. Höhle (See [3, 4]) developed the algebraic structures and many valued topologies in a sense of quantales and cqm-lattices.

Discrete duality is a duality between a class of algebras and an associated class of relational systems (referred to as frames) without a topology. Dualities are developed between algebras and logical relational systems such as Boolean algebras and classical propositional logic; MV-algebra and Lukasiewicz logic; Heyting algebra and intuitionistic logic; BL-algebra and basic fuzzy logics; Monoidal t-norm logic and MTL-algebras (See [5, 6, 7, 8, 9, 10]). A duality leads in a natural way to relational semantics for a logic which supports part of foundation of theoretic computer science. As a duality between algebras and logical relational systems, Oh and Kim (See [11, 12]) introduced the notion of residuated connections and residuated frames in fuzzy logics.

In this paper, we introduce the notions of commutative quantales and commutative quantale frames as a duality. Let (X, e_X) be a fuzzy partially ordered set. In

Theorem 3.7, $\tau_{e_X} = \{A \in L^X \mid A(x) \odot e_X(x, y) \leq A(y)\}$ is an Alexandrov topology. In Theorem 3.8, if (X, e_X, P) is a commutative quantale frame, we show that $(\tau_{e_X}, \vee, \wedge, \otimes, \nearrow, 0_X, \infty_X)$ is a commutative quantale where, $A, B \in \tau_{e_X}$,

$$(A \otimes B)(z) = \bigvee_{x, y \in X} P(x, y, z) \odot A(x) \odot B(y).$$

$$(A \Rightarrow B)(x) = \bigwedge_{y, z \in X} (P(x, y, z) \odot A(y) \rightarrow B(z)).$$

In Theorem 3.14, if $(X, \wedge, \vee, \oplus, \nearrow, 0, 1)$ is a commutative quantale and e_X is a r -fuzzy poset on X , we show that (L^X, e_{L^X}, P) is a commutative quantale frame where $P : L^X \times L^X \times L^X \rightarrow L$ as

$$P(A, B, C) = \bigwedge_{x \in X} ((A \otimes B)(x) \rightarrow C(x))$$

and $(A \otimes B)(x) = \bigvee_{y, z \in X} (A(y) \odot B(z) \odot e_X(y \odot z, x))$. We give their examples.

2. PRELIMINARIES

Definition 2.1 ([1, 2, 3]). A triple (L, \leq, \odot) is called a *commutative quantale* (*c-quantale*, for short), if it satisfies the following conditions:

(Q1) $L = (L, \leq, \vee, \wedge, 0, 1)$ is a complete lattice, where 1 is the universal upper bound and 0 denotes the universal lower bound,

(Q2) $a \odot b = b \odot a$ and $a \odot (b \odot c) = (a \odot b) \odot c$ for all $a, b, c \in L$,

(Q3) \odot is distributive over arbitrary joins, i.e.,

$$\left(\bigvee_{i \in \Gamma} a_i\right) \odot b = \bigvee_{i \in \Gamma} (a_i \odot b).$$

A c-quantale is called *unital*, if $a = a \odot e$, for each $a \in L$. A unital c-quantale is called a *strictly two-sided, commutative quantale* (*sc-quantale*, for short), if $e = 1$.

Remark 2.2 ([1, 2, 3]). (1) A completely distributive lattice is an sc-quantale. In particular, the unit interval $([0, 1], \leq, \vee, \odot = \wedge, 0, 1)$ is an sc-quantale.

(2) The unit interval with a left-continuous t-norm \odot , $([0, 1], \leq, \odot)$, is an sc-quantale.

(3) Let (L, \leq, \odot) be a c-quantale. For each $x, y \in L$, we define

$$x \rightarrow y = \bigvee \{z \in L \mid x \odot z \leq y\}.$$

Then it satisfies Galois correspondence, i.e.,

$$(x \odot y) \leq z \text{ iff } x \leq (y \rightarrow z).$$

(4) $([0, \infty], \leq_{op}, \vee_{op}, +, \wedge_{op}, \infty, 0)$ is a sc-quantale, where $\leq_{op} = \geq, \vee_{op} = \wedge, \wedge_{op} = \vee$ and

$$\begin{aligned} x \rightarrow y &= \bigvee_{op} \{z \in [0, \infty] \mid x + z \leq_{op} y\} \\ &= \bigwedge \{z \in [0, \infty] \mid z \geq -x + y\} = (y - x) \vee 0. \end{aligned}$$

In this paper, we assume $(L, \wedge, \vee, \odot, \rightarrow, 0, 1)$ is a c-quantale. For $\alpha \in L, A, B \in L^X$, we denote $(\alpha \rightarrow A), (A \rightarrow B), (\alpha \odot A), \alpha_X \in L^X$ as $(\alpha \rightarrow A)(x) = \alpha \rightarrow A(x), (A \rightarrow B)(x) = (A(x) \rightarrow B(x)), (\alpha \odot A)(x) = \alpha \odot A(x), (A \odot B)(x) = A(x) \odot B(x)$, and $\alpha_X(x) = \alpha$.

Lemma 2.3 ([3, 4, 13, 14]). For each $x, y, z, x_i, y_i \in L$, we have the following properties.

- (1) If $y \leq z$, $(x \odot y) \leq (x \odot z)$, $x \rightarrow y \leq x \rightarrow z$ and $z \rightarrow x \leq y \rightarrow x$.
- (2) $x \odot y \leq x \wedge y \leq x \vee y$.
- (3) $x \rightarrow (\bigwedge_{i \in \Gamma} y_i) = \bigwedge_{i \in \Gamma} (x \rightarrow y_i)$ and $(\bigvee_{i \in \Gamma} x_i) \rightarrow y = \bigwedge_{i \in \Gamma} (x_i \rightarrow y)$.
- (4) $x \rightarrow (\bigvee_{i \in \Gamma} y_i) \geq \bigvee_{i \in \Gamma} (x \rightarrow y_i)$.
- (5) $(\bigwedge_{i \in \Gamma} x_i) \rightarrow y \geq \bigvee_{i \in \Gamma} (x_i \rightarrow y)$.
- (6) $(x \odot y) \rightarrow z = x \rightarrow (y \rightarrow z) = y \rightarrow (x \rightarrow z)$.
- (7) $x \odot (x \rightarrow y) \leq y$ and $x \rightarrow y \leq (y \rightarrow z) \rightarrow (x \rightarrow z)$.
- (8) $y \odot z \leq x \rightarrow (x \odot y \odot z)$ and $x \odot (x \odot y \rightarrow z) \leq y \rightarrow z$.
- (9) $x \rightarrow y \leq (x \odot z) \rightarrow (y \odot z)$.
- (10) $(x \rightarrow y) \odot (y \rightarrow z) \leq x \rightarrow z$.
- (11) $x \rightarrow y = 1$ iff $x \leq y$.
- (12) $x = \bigwedge_{y \in L} ((x \rightarrow y) \rightarrow y)$.

Definition 2.4 ([3, 4, 13, 14]). Let X be a set. A function $e_X : X \times X \rightarrow L$ is called:

- (E1) *reflexive*, if $e_X(x, x) = 1$ for all $x \in X$,
- (E2) *transitive*, if $e_X(x, y) \odot e_X(y, z) \leq e_X(x, z)$, for all $x, y, z \in X$,
- (E3) *anti-symmetric*, if $e_X(x, y) = e_X(y, x) = \top$, then $x = y$.

If e_X satisfies (E1) and (E2), (X, e_X) is a fuzzy preordered set. If e_X satisfies (E1), (E2) and (E3), (X, e_X) is a fuzzy partially ordered set (simply, fuzzy poset).

Example 2.5. (1) We define a function $e_{L^X} : L^X \times L^X \rightarrow L$ as

$$e_{L^X}(A, B) = \bigwedge_{x \in X} (A(x) \rightarrow B(x)).$$

Then by Lemma 2.3 (10) and (11), (L^X, e_{L^X}) is a fuzzy poset.

(2) If (X, e_X) is a fuzzy poset and we define a function $e_X^{-1}(x, y) = e_X(y, x)$, then (X, e_X^{-1}) is a fuzzy poset.

3. COMMUTATIVE QUANTALES AND COMMUTATIVE QUANTALE FRAME

As an extension of MTL-frames [9], we define a commutative quantale frame.

Definition 3.1. Let (X, e_X) be a fuzzy poset. The triple (X, e_X, P) is called a *commutative quantale frame (cq-frame)*, for short, if $P : X \times X \times X \rightarrow L$ satisfies the following conditions:

- (P1) $P(x, y, z) \odot e_X(x', x) \odot e_X(y', y) \odot e_X(z, z') \leq P(x', y', z')$,
- (P2) $P(x, y, z) \leq P(y, x, z)$,
- (P3) $P(x, y, z) \odot P(z, y', z') \leq \bigvee_{u \in X} (P(y, y', u) \odot P(x, u, z'))$,
- (P4) $P(x, y, z) \odot P(x', z, z') \leq \bigvee_{u \in X} (P(x', x, u) \odot P(u, y, z'))$.

A cq-frame (X, e_X, P) is called an *scq-frame*, if satisfies

- (P5) $\bigvee_{u \in X} P(u, x, x) = 1$.
- (P6) $P(x, y, z) \leq e_X(x, z) \wedge e_X(y, z)$.

Definition 3.2. Let $(X, \wedge, \vee, *, \nearrow, 0, 1)$ be a c-quantale. A fuzzy poset (X, e_X) is an *r-fuzzy poset*, if (R) $e_X(a * b, c) = e_X(a, b \nearrow c)$ for each $a, b, c \in X$.

Theorem 3.3. Let $(X, \wedge, \vee, *, \nearrow, 0, 1)$ be a c-quantale. A pair (X, e_X) is an r-fuzzy poset. We define

$$P(x, y, z) = e_X(x * y, z).$$

Then the following properties hold.

(1) (X, e_X, P) is a cq-frame.

(2) If it is an sc-quantale, $e_X(x * y, z) \leq e_X(x, z) \wedge e_X(y, z)$ for each $x, y, z \in X$, then (X, e_X, P) is an scq-frame.

Proof. (1) (P1) Since $e_X(x', y \nearrow z) = e_X(y, x' \nearrow z)$, we have

$$\begin{aligned} & P(x, y, z) \odot e_X(x', x) \odot e_X(y', y) \odot e_X(z, z') \\ &= e_X(x * y, z) \odot e_X(x', x) \odot e_X(y', y) \odot e_X(z, z') \\ &= e_X(x, y \nearrow z) \odot e_X(x', x) \odot e_X(y', y) \odot e_X(z, z') \\ &\leq e_X(x', y \nearrow z) \odot e_X(y', y) \odot e_X(z, z') \\ &= e_X(y, x' \nearrow z) \odot e_X(y', y) \odot e_X(z, z') \\ &\leq e_X(y', x' \nearrow z) \odot e_X(z, z') \\ &\leq e_X(x' * y', z) \odot e_X(z, z') \\ &\leq e_X(x' * y', z') = P(x', y', z'). \end{aligned}$$

(P2) For each $x, y, z \in X$, $P(x, y, z) = e_X(x * y, z) = e_X(y * x, z) = P(y, x, z)$.

(P3)

$$\begin{aligned} & P(x, y, z) \odot P(z, y', z') = e_X(x * y, z) \odot e_X(z * y', z') \\ &\leq e_X(x * y, y' \nearrow z') = e_X(y * y', x \nearrow z') \\ &= e_X(y * y', x \nearrow z') \odot e_X(x * (x \nearrow z'), z') \\ &\leq \bigvee e_X(y * y', u) \odot e_X(x * u, z') \\ &= \bigvee P(y, y', u) \odot P(x * u, z'). \end{aligned}$$

(P4)

$$\begin{aligned} & P(x, y, z) \odot P(x', z, z') = e_X(x * y, z) \odot e_X(x' * z, z') \\ &\leq e_X(x * y, x' \nearrow z') = e_X(x * x', y \nearrow z') \\ &= e_X(x' * x, y \nearrow z') \odot e_X(y \nearrow z', y \nearrow z') \\ &= e_X(x' * x, y \nearrow z') \odot e_X((y \nearrow z') * y, z') \\ &\leq \bigvee_{u \in X} (e_X(x' * x, u) \odot e_X(u * y, z')) \\ &= \bigvee_{u \in X} (P(x', x, u) \odot P(u * y, z')). \end{aligned}$$

(2) (P5) $\bigvee_{u \in X} P(u, x, x) \geq e_X(1 * x, x) = e_X(x, x) = 1$.

(P6) $P(x, y, z) = e_X(x * y, z) \leq e_X(y, z)$ and $P(x, y, z) = e_X(x * y, z) \leq e_X(x, z)$. \square

Example 3.4. Let $(L, \wedge, \vee, \odot, \rightarrow, 0, 1)$ be a c-quantale.

(1) Define $e_L : L \times L \rightarrow L$ as $e_L(x, y) = x \rightarrow y$ and $P(x, y, z) = (x \odot y) \rightarrow z = e_L(x \odot y, z)$. Since $P(x, y, z) = (x \odot y) \rightarrow z = e_L(x \odot y, z) = e_L(x, y \rightarrow z)$, (L, e_L) is an r-fuzzy poset. By Theorem 3.3 (1), (L, e_L, P) is a cq-frame.

(2) Let $(X, \wedge, \vee, *, \nearrow, 0, 1)$ be a c-quantale. Define $e_X : X \times X \rightarrow L$ as

$$e_X(x, y) = \begin{cases} 1, & \text{if } x \leq y, \\ 0, & \text{if } x \not\leq y, \end{cases}$$

Since $x * y \leq z$ iff $x \leq y \nearrow z$, $e_X(x * y, z) = e_X(x, y \nearrow z)$ for each $x, y, z \in X$. Hence (X, e_X) is an r-fuzzy poset. Furthermore, define $P(x, y, z) = e_X(x * y, z)$. Then (X, e_X, P) is an cq-frame.

(3) Let X be a set and $P(X) = \{A \mid A \subset X\}$. Then $(P(X), \cap, \cup, * = \cap, \nearrow, \emptyset, X)$ is an sc-quantale with

$$A \nearrow B = \bigcup \{C \in P(X) \mid A \cap C \subset B\} = A^c \cup B.$$

Define $e : P(X) \times P(X) \rightarrow L$ as

$$e(A, B) = \begin{cases} 1, & \text{if } A \subset B, \\ 0, & \text{if } A \not\subset B. \end{cases}$$

Since $A \cap B \subset C$ iff $A \subset B^c \cup C$, $e(A \cap B, C) = e(A, B \nearrow C)$ for each $A, B, C \in P(X)$. Then $(P(X), e)$ is an r-fuzzy poset. Thus by Theorem 3.3 (1), $(P(X), e, P)$ is a cq-frame with $P(A, B, C) = e(A \cap B, C)$ for each $A, B, C \in P(X)$. But it is not an scq-frame because $X = \{a, b, c\}$, $A = \{a, b\}$, $B = \{b, c\}$ and $P(A, B, A) = e(A \cap B, A) = 1 \not\leq e(A, A) \wedge e(B, A) = 0$.

(4) Let X be a set. Then $(L^X, \wedge, \vee, \odot, \rightarrow, 0_X, 1_X)$ is a c-quantale. Define $e_{L^X} : L^X \times L^X \rightarrow L$ as $e_{L^X}(A, B) = \bigwedge_{x \in X} (A(x) \rightarrow B(x))$. Then (L^X, e_{L^X}) is an r-fuzzy poset. Furthermore, define $P(A, B, C) = \bigwedge_{x \in X} (A(x) \odot B(x) \rightarrow C(x))$. Then (L^X, e_{L^X}, P) is a cq-frame.

(5) Define on $L = \{0, \frac{1}{4}, \frac{1}{2}, \frac{3}{4}, 1\}$ as follows:

$$x \odot y = 0 \vee (x + y - 1), \quad x \rightarrow y = 1 \vee (1 - x + y).$$

Then $(L, \wedge, \vee, \odot, \rightarrow, 0, 1)$ is an sc-quantale. Let $X = \{0, x, y, 1\}$ be a set such that $0 < x < y < 1$. Define $*$ and \nearrow as follows:

*	0	x	y	1
0	0	0	0	0
x	0	0	x	x
y	0	x	y	y
1	0	x	y	1

\nearrow	0	x	y	1
0	1	1	1	1
x	x	1	1	1
y	0	x	1	1
1	0	x	y	1

Then $(X, \wedge, \vee, *, \nearrow, 0, 1)$ is a c-quantale.

(a) Define $e_X : X \times X \rightarrow L$ as follows

e_X	0	x	y	1
0	1	1	1	1
x	$\frac{1}{2}$	1	1	1
y	$\frac{1}{2}$	$\frac{1}{2}$	1	1
1	$\frac{1}{2}$	$\frac{1}{2}$	$\frac{3}{4}$	1

Since

$$\begin{aligned} e_X(0, x) &= e_X(0 * 0, x) = e_X(0, 0 \nearrow x) \\ &= e_X(0, 1) = e_X(0, 0 \nearrow 0) = e_X(0 * 0, 0) = e_X(0, 0) \\ &= e_X(0 * x, x) = e_X(x, 0 \nearrow x) = e_X(x, 1) \\ &= e_X(0 * y, x) = e_X(0, y \nearrow x) = e_X(0, x) = e_X(y, 1) \\ &= e_X(0 * 1, x) = e_X(1, 0 \nearrow x) = e_X(1, 1) \\ &= e_X(1, x \nearrow x) = e_X(1 * x, x) = e_X(x, x) \\ &= e_X(1, y \nearrow y) = e_X(1 * y, y) = e_X(y, y) = 1, \end{aligned}$$

$$\begin{aligned}
 e_X(x, y) &= e_X(y * x, y) = e_X(x, y \nearrow y) = e_X(x, 1) \\
 &= e_X(x, 0 \nearrow x) = e_X(x * 0, x) = e_X(0, x) \\
 &= e_X(x * y, y) = e_X(y, x \nearrow y) = e_X(y, 1) \\
 &= e_X(y, 0 \nearrow y) = e_X(0 * y, y) = e_X(0, y) = 1,
 \end{aligned}$$

$$\begin{aligned}
 e_X(x, 0) &= e_X(x * y, 0) = e_X(x, y \nearrow 0) \\
 &= e_X(y * x, 0) = e_X(y, x \nearrow 0) = e_X(y, x) \\
 &= e_X(1 * x, 0) = e_X(1, x \nearrow 0) = e_X(1, x) \\
 &= e_X(x * 1, 0) = e_X(x, 1 \nearrow 0) = \frac{1}{2}.
 \end{aligned}$$

Similarly, $e_X(y, 0) = e_X(1, 0) = \frac{1}{2}$. Then we get for all $x, y, z \in X$,

$$e_X(x, y) \odot e_X(y, z) \leq e_X(x, z) \text{ and } e_X(x * y, z) = e_X(x, y \nearrow z) \leq e_X(x, z).$$

Thus (X, e_X) is an r-fuzzy poset. Put $P(x, y, z) = e_X(x * y, z)$. Then (X, e_X, P) is an scq-frame.

(b) Define $e_X : X \times X \rightarrow L$ as follows as

$$e(x, y) = \begin{cases} 1, & \text{if } x = y, \\ 0, & \text{if } x \neq y. \end{cases}$$

Since $1 = e_X(x, x) = e_X(y * x, x) \neq e_X(y, x \rightarrow x) = e_X(y, 1) = 0$, (X, e_X) is not an r-fuzzy poset.

Definition 3.5. (1) A subset $\tau_X \subset L^X$ is called an *Alexandrov topology* on X , if it satisfies the following conditions:

- (O1) $\alpha_X \in \tau_X$,
- (O2) if $A_i \in \tau_X$ for all $i \in I$, then $\bigvee_{i \in I} A_i, \bigwedge_{i \in I} A_i \in \tau_X$,
- (O3) if $A \in \tau_X$ and $\alpha \in L$, then $\alpha \odot A, \alpha \rightarrow A \in \tau_X$.

The pair (X, τ_X) is called an *Alexandrov topological space*.

Remark 3.6. Let $\tau_X \subset L^X$. Define $e_{\tau_X} : \tau_X \times \tau_X \rightarrow L$ as $e_{\tau_X}(A, B) = \bigwedge_{x \in X} (A(x) \rightarrow B(x))$. Then (τ_X, e_{τ_X}) is a fuzzy poset.

Theorem 3.7. Let (X, e_X) be a fuzzy poset. Define

$$\tau_{e_X} = \{A \in L^X \mid A(x) \odot e_X(x, y) \leq A(y)\}.$$

Then τ_{e_X} is an Alexandrov topology on X such that

$$\tau_{e_X} = \left\{ \bigvee_{x \in X} (A(x) \odot e_X(x, -)) \mid A \in L^X \right\}.$$

Proof. Since $\alpha_X(x) \odot e_X(x, y) \leq \alpha_X(y)$, we have $\alpha_X \in \tau_{e_X}$.

If $A_i \in \tau_{e_X}$ for all $i \in I$, then

$$\begin{aligned}
 (\bigwedge_{i \in I} A_i)(x) \odot e_X(x, y) &\leq \bigwedge_{i \in I} (A_i \odot e_X(x, y)) \leq \bigwedge_{i \in I} A_i(y), \\
 (\bigvee_{i \in I} A_i)(x) \odot e_X(x, y) &= \bigvee_{i \in I} (A_i(x) \odot e_X(x, y)) \leq \bigvee_{i \in I} A_i(y).
 \end{aligned}$$

Thus $\bigwedge_{i \in I} A_i, \bigvee_{i \in I} A_i \in \tau_{e_X}$.

If $A \in \tau_{e_X}$ and $\alpha \in L$, then $\alpha \odot (\alpha \rightarrow A(x)) \odot e_X(x, y) \leq A(x) \odot e_X(x, y) \leq A(y)$. Thus $(\alpha \rightarrow A(x)) \odot e_X(x, y) \leq (\alpha \rightarrow A(y))$. So $\alpha \rightarrow A \in \tau_{e_X}$. Easily, $\alpha \odot A \in \tau_{e_X}$. Hence τ_{e_X} is an Alexandrov topology on X .

Put $\tau = \{\bigvee_{x \in X} (A(x) \odot e_X(x, -)) \mid A \in L^X\}$. Let $A \in \tau_{e_X}$. Then we have

$$\bigvee_{x \in X} (A(x) \odot e_X(x, -)) = A \in \tau.$$

If $\bigvee_{x \in X} (A(x) \odot e_X(x, -)) \in \tau$, then we get

$$\bigvee_{x \in X} (A(x) \odot e_X(x, z)) \odot e_X(z, y) \leq \bigvee_{x \in X} (A(x) \odot e_X(x, y)).$$

Thus $\bigvee_{x \in X} (A(x) \odot e_X(x, -)) \in \tau_{e_X}$. So $\tau_{e_X} = \tau$. \square

Theorem 3.8. *Let (X, e_X, P) be a cq-frame. For $A, B \in \tau_{e_X}$, we define*

$$\begin{aligned} (A \otimes B)(z) &= \bigvee_{x, y \in X} (P(x, y, z) \odot A(x) \odot B(y)), \\ (A \Rightarrow B)(x) &= \bigwedge_{y, z \in X} ((P(x, y, z) \odot A(y)) \rightarrow B(z)). \end{aligned}$$

Then we have :

- (1) $(\tau_{e_X}, \vee, \wedge, \otimes, \Rightarrow, 0_X, 1_X)$ is a c-quantale,
- (2) if (X, e_X, P) be an scq-frame, then it is an sc-quantale.

Proof. (1) For $A, B \in \tau_{e_X}$, by (P1),

$$\begin{aligned} (A \otimes B)(z) \odot e_X(z, y) &= \bigvee_{x_0, y_0} (P(x_0, y_0, z) \odot A(x_0) \odot B(y_0) \odot e_X(z, y)) \\ &\leq \bigvee_{x_0, y_0} (P(x_0, y_0, y) \odot A(x_0) \odot B(y_0)) \\ &= (A \otimes B)(y). \end{aligned}$$

Then $A \otimes B \in \tau_{e_X}$.

For $A, B \in \tau_{e_X}$, also by (P1),

$$\begin{aligned} (A \Rightarrow B)(x) &= \bigwedge_{y, z \in X} (P(x, y, z) \odot A(y) \rightarrow B(z)) \\ &\leq \bigwedge_{y, z \in X} (e_X(x, x_0) \odot P(x_0, y, z) \odot A(y) \rightarrow B(z)) \\ &= e_X(x, x_0) \rightarrow \bigwedge_{y, z \in X} (P(x_0, y, z) \odot A(y) \rightarrow B(z)) \\ &= e_X(x, x_0) \rightarrow (A \Rightarrow B)(x_0). \end{aligned}$$

Thus $A \Rightarrow B \in \tau_{e_X}$.

For $A, B, C \in \tau_{e_X}$, we have

$$\begin{aligned} &((A \otimes B) \otimes C)(w) \\ &= \bigvee_{p, z \in X} (P(z, p, w) \odot (A \otimes B)(z) \odot C(p)) \\ &= \bigvee_{p, z \in X} (P(z, p, w) \odot (\bigvee_{x, y \in X} (A(x) \odot B(y) \odot P(x, y, z)) \odot C(p)) \\ &= \bigvee_{p, z \in X} \bigvee_{x, y \in X} (P(z, p, w) \odot P(x, y, z) \odot A(x) \odot B(y) \odot C(p)) \\ &\leq \bigvee_{p \in X} \bigvee_{x, y \in X} \bigvee_{u \in X} (P(y, p, u) \odot P(x, u, w) \odot A(x) \odot B(y) \odot C(p)) \quad [\text{By (P3)}] \\ &= \bigvee_{p, y \in X} \bigvee_{x, u \in X} (P(y, p, u) \odot P(x, u, w) \odot A(x) \odot B(y) \odot C(p)) \\ &= \bigvee_{x, u \in X} (P(x, u, w) \odot A(x) \odot \bigvee_{p, y \in X} (P(y, p, u) \odot B(y) \odot C(p))) \\ &= \bigvee_{x, u \in X} (P(x, u, w) \odot A(x) \odot (B \otimes C)(u)) \\ &= (A \otimes (B \otimes C))(w), \\ &(A \otimes (B \otimes C))(w) \end{aligned}$$

$$\begin{aligned}
 &= \bigvee_{p,z \in X} \left(P(z, p, w) \odot A(z) \odot (B \otimes C)(p) \right) \\
 &= \bigvee_{p,z \in X} \left(P(z, p, w) \odot A(z) \odot \bigvee_{x,y \in X} (P(x, y, p) \odot B(x) \odot C(y)) \right) \\
 &= \bigvee_{p,z \in X} \bigvee_{x,y \in X} \left(P(z, p, w) \odot P(x, y, p) \odot A(z) \odot B(x) \odot C(y) \right) \\
 &\leq \bigvee_{z \in X} \bigvee_{x,y \in X} \bigvee_{u \in X} \left(P(z, x, u) \odot P(u, y, w) \odot A(z) \odot B(x) \odot C(y) \right) \text{ [By (P4)]} \\
 &= \bigvee_{y \in X} \bigvee_{u \in X} \left(\left(\bigvee_{z,x \in X} (P(z, x, u) \odot A(z) \odot B(x)) \right) \odot P(u, y, w) \odot C(y) \right) \\
 &= \bigvee_{y \in X} \bigvee_{u \in X} \left((A \otimes B)(u) \odot P(u, y, w) \odot C(y) \right) \\
 &= ((A \otimes B) \otimes C)(w),
 \end{aligned}$$

$$\begin{aligned}
 (A \otimes B)(z) &\leq C(z) \\
 \Leftrightarrow \bigvee_{x,y \in X} (P(x, y, z) \odot A(x) \odot B(y)) &\leq C(z) \\
 \Leftrightarrow A(x) &\leq \bigwedge_{y,z \in X} (P(x, y, z) \odot B(y) \rightarrow C(z)) \\
 \Leftrightarrow A(x) &\leq (B \Rightarrow C)(x).
 \end{aligned}$$

Since $A \otimes B_i \leq A \otimes \bigvee_{i \in \Gamma} B_i$, we have $\bigvee_{i \in \Gamma} (A \otimes B_i) \leq A \otimes \bigvee_{i \in \Gamma} B_i$. Since $A \otimes B_i \leq A \otimes B_i$ iff $B_i \leq A \Rightarrow (A \otimes B_i)$, then

$$\bigvee_{i \in \Gamma} B_i \leq \bigvee_{i \in \Gamma} (A \Rightarrow (A \otimes B_i)) \leq A \Rightarrow \bigvee_{i \in \Gamma} (A \otimes B_i).$$

Thus $\bigvee_{i \in \Gamma} (A \otimes B_i) \geq A \otimes \bigvee_{i \in \Gamma} B_i$. So $\bigvee_{i \in \Gamma} (A \otimes B_i) = A \otimes \bigvee_{i \in \Gamma} B_i$. Hence $(\tau_{e_X}, \vee, \wedge, \otimes, \Rightarrow, 0_X, 1_X)$ is a c-quantale.

(2) By (P6), $P(x, y, z) \leq e_X(y, z)$. For $A \in \tau_{e_X}$, since $A(x) \odot e_X(x, y) \leq A(y)$,

$$\begin{aligned}
 (1_X \otimes A)(z) &= \bigvee_{x,y \in X} (P(x, y, z) \odot 1_X(x) \odot A(y)) \\
 &= \bigvee_{x,y \in X} (P(x, y, z) \odot A(y)) \\
 &\leq \bigvee_{y \in X} (e_X(y, z) \odot A(y)) \\
 &\leq A(z),
 \end{aligned}$$

$$\begin{aligned}
 A(z) &= \bigvee_{u \in X} (P(u, z, z) \odot A(z)) \text{ [By (P5)]} \\
 &\leq \bigvee_{u,y \in X} (P(u, y, z) \odot 1_X(u) \odot A(y)) \\
 &= (1_X \otimes A)(z).
 \end{aligned}$$

Then $(\tau_{e_X}, \vee, \wedge, \otimes, \Rightarrow, 0_X, 1_X)$ is an sc-quantale. \square

Theorem 3.9. Let $(X, \wedge, \vee, *, \nearrow, 0, 1)$ be a c-quantale with an r-fuzzy poset (X, e_X) . For $A, B \in \tau_{e_X}$, we define

$$\begin{aligned}
 (A \otimes B)(z) &= \bigvee_{x,y \in X} (e_X(x * y, z) \odot A(x) \odot B(y)), \\
 (A \Rightarrow B)(x) &= \bigwedge_{y,z \in X} ((e_X(x * y, z) \odot A(y)) \rightarrow B(z)).
 \end{aligned}$$

Then (1) $(\tau_{e_X}, \vee, \wedge, \otimes, \Rightarrow, 0_X, 1_X)$ is a c-quantale, where

$$\begin{aligned}
 (A \otimes B)(z) &= \bigvee_{y \in X} A(y \nearrow z) \odot B(y) = \bigvee_{x \in X} A(x) \odot B(x \nearrow z), \\
 (A \Rightarrow B)(x) &= \bigwedge_{z \in X} (A(x \nearrow z) \rightarrow B(z)) = \bigwedge_{y \in X} (A(y) \rightarrow B(x * y)).
 \end{aligned}$$

(2) If it is an sc-quantale and $e_X(x * y, z) \leq e_X(x, z) \wedge e_X(y, z)$ for each $x, y, z \in X$, then $(\tau_{e_X}, \vee, \wedge, \otimes, \Rightarrow, 0_X, 1_X)$ is an sc-quantale.

Proof. (1) Put $P(x, y, z) = e_X(x * y, z)$. By Theorem 3.3, (X, e_X, P) is a cq-frame. Since $\bigvee_{x \in X} (e_X(x * y, z) \odot A(x)) = \bigvee_{x \in X} (e_X(x, y \nearrow z) \odot A(x)) = A(y \nearrow z)$ for

$A \in \tau_{e_X}$ and $\bigvee_{y \in X} (e_X(x * y, z) \odot B(y)) = \bigvee_{y \in X} (e_X(y, x \nearrow z) \odot B(y)) = B(x \nearrow z)$
for $A \in \tau_{e_X}$,

$$\begin{aligned} (A \otimes B)(z) &= \bigvee_{x, y \in X} e_X(x * y, z) \odot A(x) \odot B(y) \\ &= \bigvee_{y \in X} A(y \nearrow z) \odot B(y) \\ &= \bigvee_{x \in X} A(x) \odot B(x \nearrow z). \end{aligned}$$

Since $\bigvee_{x \in X} (e_X(x * y, z) \odot A(x)) = \bigvee_{x \in X} (e_X(x, y \nearrow z) \odot A(x)) = A(y \nearrow z)$ for $A \in \tau_{e_X}$ and $\bigvee_{y \in X} (e_X(x * y, z) \odot B(y)) = \bigvee_{y \in X} (e_X(y, x \nearrow z) \odot B(y)) = B(x \nearrow z)$ for $A \in \tau_{e_X}$,

$$\begin{aligned} (A \Rightarrow B)(x) &= \bigwedge_{y, z \in X} (e_X(x * y, z) \odot A(y) \rightarrow B(z)) \\ &= \bigwedge_{z \in X} (\bigvee_{y \in X} (e_X(y, x \nearrow z) \odot A(y)) \rightarrow B(z)) \\ &= \bigwedge_{z \in X} (A(x \nearrow z) \rightarrow B(z)), \end{aligned}$$

$$\begin{aligned} (A \Rightarrow B)(x) &= \bigwedge_{y \in X} (A(y) \rightarrow \bigwedge_{z \in X} (e_X(x * y, z) \rightarrow B(z))) \\ &= \bigwedge_{y \in X} (A(y) \rightarrow B(x * y)). \end{aligned}$$

(2) It follows from Theorem 3.8 (2). \square

Example 3.10. Let $(L, \wedge, \vee, \odot, \rightarrow, 0, 1)$ be a c-quantale with an r-fuzzy poset (L, e_L) and $e_L(x, y) = x \rightarrow y$. For $A, B \in \tau_{e_L}$, we define

$$\begin{aligned} (A \otimes B)(z) &= \bigvee_{x, y \in L} ((x \odot y) \rightarrow z) \odot A(x) \odot B(y) \\ &= \bigvee_{y \in L} A(y \rightarrow z) \odot B(y) \\ &= \bigvee_{x \in L} A(x) \odot B(x \rightarrow z), \end{aligned}$$

$$\begin{aligned} (A \Rightarrow B)(x) &= \bigwedge_{y, z \in L} ((x \odot y) \rightarrow z) \odot A(y) \rightarrow B(z) \\ &= \bigwedge_{z \in L} (A(x \rightarrow z) \rightarrow B(z)) \\ &= \bigwedge_{y \in L} (A(y) \rightarrow B(x \odot y)). \end{aligned}$$

Then $(\tau_{e_L}, \vee, \wedge, \otimes, \Rightarrow, 0_L, 1_L)$ is a c-quantale.

Example 3.11. Let $(P(X), e, P)$ be a cq-frame from Example 3.4 (3). Let $\tau_e = \{\alpha \in L^{P(X)} \mid \alpha(A) \odot e(A, B) \leq \alpha(B)\} = \{\alpha \in L^{P(X)} \mid \alpha(A) \leq \alpha(B), \text{ for } A \subset B\}$. For $\alpha, \beta \in \tau_e$, we define

$$\begin{aligned} (\alpha \otimes \beta)(C) &= \bigvee_{A, B \in P(X)} (P(A, B, C) \odot \alpha(A) \odot \beta(B)) \\ &= \bigvee_{A \cap B \subset C} (\alpha(A) \odot \beta(B)) \\ &= \bigvee_{B \in P(X)} (\alpha(B^c \cup C) \odot \beta(B)) \\ &= \bigvee_{A \in P(X)} (\alpha(A) \odot \beta(A^c \cup C)), \end{aligned}$$

$$\begin{aligned} (\alpha \Rightarrow \beta)(A) &= \bigwedge_{B, C \in P(X)} (P(A, B, C) \odot \alpha(B) \rightarrow \beta(C)) \\ &= \bigwedge_{A \subset B^c \cup C} (\alpha(B) \rightarrow \beta(C)) \\ &= \bigwedge_{C \in P(X)} (\alpha(A^c \cup C) \rightarrow \beta(C)) \\ &= \bigwedge_{B \in P(X)} (\alpha(B) \rightarrow \beta(A \cap B)). \end{aligned}$$

Then by Theorem 3.8, $(\tau_e, \vee, \wedge, \otimes, \Rightarrow, 0_{P(X)}, 1_{P(X)})$ is a c-quantale, where $0_{P(X)}(A) = 0, 1_{P(X)}(A) = 1$ for each $A \in P(X)$.

Example 3.12. (1) Define $(A \rightarrow B)(x) = A(x) \rightarrow B(x)$ and $(A \odot B)(x) = A(x) \odot B(x)$ for each $x \in X$. Then $(L^X, \vee, \wedge, \odot, \rightarrow, 0_X, 1_X)$ is a sc-quantale.

(2) Let (L^X, e_{L^X}, P) be a cq-frame where $P(A, B, C) = \bigwedge_{x \in X} (A(x) \odot B(x) \rightarrow C(x))$ from Example 3.4 (4). Let $\tau_{e_{L^X}} = \{\alpha \in L^{L^X} \mid \alpha(A) \odot e_{L^X}(A, B) \leq \alpha(B)\}$. For $\alpha, \beta \in \tau_{e_{L^X}}$, we define

$$\begin{aligned} (\alpha \otimes \beta)(C) &= \bigvee_{A, B \in L^X} (P(A, B, C) \odot \alpha(A) \odot \beta(B)) \\ &= \bigvee_{B \in L^X} (\alpha(B \rightarrow C) \odot \beta(B)) \\ &= \bigvee_{A \in L^X} (\alpha(A) \odot \beta(A \rightarrow C)), \end{aligned}$$

$$\begin{aligned} (\alpha \Rightarrow \beta)(A) &= \bigwedge_{B, C \in L^X} (P(A, B, C) \odot \alpha(B) \rightarrow \beta(C)) \\ &= \bigwedge_{A \leq B \rightarrow C} (\alpha(B) \rightarrow \beta(C)) \\ &= \bigwedge_{C \in L^X} (\alpha(A \rightarrow C) \rightarrow \beta(C)) \\ &= \bigwedge_{B \in L^X} (\alpha(B) \rightarrow \beta(A \odot B)). \end{aligned}$$

Then by Theorem 3.8, $(\tau_{e_{L^X}}, \bigvee, \bigwedge, \otimes, \Rightarrow, 0_{L^X}, 1_{L^X})$ is a c-quantale, where $0_{L^X}(A) = 0, 1_{L^X}(A) = 1$ for each $A \in L^X$.

Theorem 3.13. Let $(X, \wedge, \vee, *, \nearrow, 0, 1)$ be a sc-quantale and e_X is an r -fuzzy poset. For $A, B \in L^X$, we define $A \otimes B \in L^X$ as

$$(A \otimes B)(x) = \bigvee_{y, z \in X} (A(y) \odot B(z) \odot e_X(y * z, x)).$$

Then the following properties hold.

(1) If $A, B \in L^X$ with $B(1) = 1$, then $A \otimes B \geq A$ and $A \otimes E = A$ for $E(1) = 1, E(x) = 0$, otherwise. Moreover, $(L^X, \bigvee, \bigwedge, \otimes, 0_X, 1_X)$ is a c-quantale but not an sc-quantale.

(2) If $A, B \in M(L^X)$ and $e_X(a, b) \odot e_X(c, d) \leq e_X(a * c, b * d)$, where

$$M(L^X) = \{A \in L^X \mid A(a * b) \geq A(a) \odot A(b)\},$$

then $A \otimes B \in M(L^X)$.

(3) If $A \in M(L^X) \cap \tau_{e_X}$ and $e_X(a, b) \odot e_X(c, d) \leq e_X(a * c, b * d)$, then $A \otimes A \leq A$.

Proof. (1) For $A, B \in L^X$ with $B(1) = 1$,

$$\begin{aligned} (A \otimes B)(a) &= \bigvee_{x, y \in X} (A(x) \odot B(y) \odot e_X(x * y, a)) \\ &\geq A(a) \odot B(1) \odot e_X(a * 1, a) \\ &= A(a). \end{aligned}$$

Moreover, $(A \otimes E)(a) = A(a) \odot E(1) \odot e_X(a * 1, a) = A(a)$ for $E(1) = 1, E(x) = 0$, otherwise. But $E \neq 1_X$, that is, E is not a top element. Then $(L^X, \bigvee, \bigwedge, \otimes, 0_X, 1_X)$ is not an sc-quantale.

(2) For $A, B \in M(L^X)$,

$$\begin{aligned} &(A \otimes B)(a) \odot (A \otimes B)(b) \\ &= \left(\bigvee_{x, y \in X} A(x) \odot B(y) \odot e_X(x * y, a) \right) \odot \left(\bigvee_{z, w \in X} A(z) \odot B(w) \odot e_X(z * w, b) \right) \\ &= \bigvee_{x, y, z, w \in X} \left(A(x) \odot A(z) \odot B(y) \odot B(w) \odot e_X(x * y, a) \odot e_X(z * w, b) \right) \\ &\leq \bigvee_{x, y, z, w \in X} \left(A(x * z) \odot B(y * w) \odot e_X(x * y * z * w, a * b) \right) \\ &\leq (A \otimes B)(a * b). \end{aligned}$$

(3) For $A \in M(L^X) \cap \tau_{e_X}$,

$$\begin{aligned} (A \otimes A)(a) &= \bigvee_{x, y \in X} (A(x) \odot A(y) \odot e_X(x * y, a)) \\ &\leq \bigvee_{x, y \in X} (A(x * y) \odot e_X(x * y, a)) \end{aligned}$$

$$\leq A(a). \quad \square$$

Theorem 3.14. Let $(X, \wedge, \vee, *, \nearrow, 0, 1)$ be a c -quantale and e_X is an r -fuzzy poset on X . Define $P : L^X \times L^X \times L^X \rightarrow L$ as follows:

$$\begin{aligned} P(A, B, C) &= \bigwedge_{x \in X} ((A \otimes B)(x) \rightarrow C(x)), \\ (A \otimes B)(x) &= \bigvee_{y, z \in X} (A(y) \odot B(z) \odot e_X(y * z, x)). \end{aligned}$$

Then

- (1) (L^X, e_{L^X}, P) is a cq -frame,
- (2) if $(X, \wedge, \vee, *, \nearrow, 0, 1)$ is a sc -quantale and $P : W(L^X) \times W(L^X) \times W(L^X) \rightarrow L$, where $W(L^X) = \{A \in L^X \mid A(1) = 1\}$, then $(W(L^X), e_{W(L^X)}, P)$ is an scq -frame,
- (3) if $P : \tau_{e_X} \times \tau_{e_X} \times \tau_{e_X} \rightarrow L$, then $(\tau_{e_X}, e_{\tau_{e_X}}, P)$ is a cq -frame.

Proof. (1) (P1) For $A, B, C, A', B', C' \in L^X$,

$$\begin{aligned} &A'(y) \odot B'(z) \odot e_X(y * z, x) \odot (A'(y) \rightarrow A(y)) \odot (B'(z) \rightarrow B(z)) \\ &\quad \odot (A(y) \odot B(z) \odot e_X(y * z, x) \rightarrow C(x)) \odot (C(x) \rightarrow C'(x)) \\ &\leq A(y) \odot B(z) \odot e_X(y * z, x) \odot (A(y) \odot B(z) \\ &\quad \odot e_X(y * z, x) \rightarrow C(x)) \odot (C(x) \rightarrow C'(x)) \leq C'(x). \end{aligned}$$

Then we have

$$\begin{aligned} &(A'(y) \rightarrow A(y)) \odot (B'(z) \rightarrow B(z)) \odot (A(y) \odot B(z) \\ &\quad \odot e_X(y * z, x) \rightarrow C(x)) \odot (C(x) \rightarrow C'(x)) \\ &\leq (A'(y) \odot B'(z) \odot e_X(y * z, x)) \rightarrow C'(x). \end{aligned}$$

Thus we get

$$e_{L^X}(A', A) \odot e_{L^X}(B', B) \odot P(A, B, C) \odot e_{L^X}(C, C') \leq P(A', B', C').$$

(P2) For $A, B, C \in L^X$,

$$\begin{aligned} P(A, B, C) &= \bigwedge_{x \in X} ((A \otimes B)(x) \rightarrow C(x)) \\ &= \bigwedge_{x \in X} ((B \otimes A)(x) \rightarrow C(x)) \\ &= P(B, A, C). \end{aligned}$$

(P3) For $A, B, C, B', C' \in L^X$,

$$\begin{aligned} &P(A, B, C) \odot P(C, B', C') \\ &\leq (A(a) \odot B(b) \odot e_X(a * b, c) \rightarrow C(c)) \odot (C(c) \odot B'(b') \odot e_X(c * b', c') \rightarrow C'(c')) \\ &= (A(a) \odot B(b) \odot e_X(a * b, c) \rightarrow C(c)) \odot (C(c) \rightarrow (B'(b') \odot e_X(c * b', c') \rightarrow C'(c'))) \\ &= (A(a) \odot B(b) \odot e_X(a * b, c)) \odot ((B'(b') \odot e_X(c * b', c') \rightarrow C'(c'))) \\ &\leq A(a) \odot B(b) \odot e_X(a * b, c) \odot B'(b') \odot e_X(c * b', c') \rightarrow C'(c'). \end{aligned}$$

Since

$$\begin{aligned} e_X(a * w, c') \odot e_X(b * b', w) &= e_X(w, a \nearrow c') \odot e_X(b * b', w) \\ &\leq e_X(b * b', a \nearrow c') \\ &= e_X(a * b, b' \nearrow c') \odot e_X(b' * (b' \nearrow c'), c') \\ &\leq \bigvee_{c \in X} (e_X(a * b, c) \odot e_X(c * b', c')), \end{aligned}$$

$$\begin{aligned} &P(A, B, C) \odot P(C, B', C') \\ &\leq \bigvee_{c \in X} (A(a) \odot B(b) \odot e_X(a * b, c) \odot B'(b') \odot e_X(c * b', c')) \rightarrow C'(c') \\ &\leq A(a) \odot B(b) \odot e_X(a * w, c') \odot B'(b') \odot e_X(b * b', w) \rightarrow C'(c'). \end{aligned}$$

Then we get

$$\begin{aligned}
 & P(A, B, C) \odot P(C, B', C') \\
 & \leq \bigwedge_{b, b'} \left(A(a) \odot B(b) \odot e_X(a * w, c') \odot B'(b') \odot e_X(b * b', w) \rightarrow C'(c') \right) \\
 & = A(a) \odot e_X(a * w, c') \odot \left(\bigvee_{b, b'} B(b) \odot B'(b') \odot e_X(b * b', w) \right) \rightarrow C'(c').
 \end{aligned}$$

Put $U(w) = (B \otimes B')(w) = \bigvee_{b, b'} B(b) \odot B'(b') \odot e_X(b * b', w)$. Then

$$\begin{aligned}
 & P(A, B, C) \odot P(C, B', C') \\
 & \leq \left(\bigwedge_w (U(w) \rightarrow U(w)) \odot \bigwedge_{c'} \left(\bigvee_{a, w} A(a) \odot e_X(a * w, c') \odot U(w) \rightarrow C'(c') \right) \right) \\
 & \leq \bigvee_U P(B, B', U) \odot P(A, U, C'). \\
 & \text{(P4) For } A, B, C, A', C' \in L^X, \\
 & P(A, B, C) \odot P(A', C, C') \\
 & \leq \left(A(a) \odot B(b) \odot e_X(a * b, c) \rightarrow C(c) \right) \odot \left(A'(a') \odot C(c) \odot e_X(a' * c, c') \rightarrow C'(c') \right) \\
 & = \left(A(a) \odot B(b) \odot e_X(a * b, c) \rightarrow C(c) \right) \odot \left(C(c) \rightarrow (A'(a') \odot e_X(a' * c, c') \rightarrow C'(c')) \right) \\
 & \leq A(a) \odot B(b) \odot e_X(a * b, c) \odot A'(a') \odot e_X(a' * c, c') \rightarrow C'(c').
 \end{aligned}$$

Since

$$\begin{aligned}
 e_X(a * a', w) \odot e_X(w * b, c') & = e_X(a * a', w) \odot e_X(w, b \nearrow c') \\
 & \leq e_X(a * a', b \nearrow c') \\
 & = e_X(a * b, a' \nearrow c') \odot e_X(a' * (a' \nearrow c'), c') \\
 & \leq \bigvee_{c \in X} (e_X(a * b, c) \odot e_X(a' * c, c')),
 \end{aligned}$$

$$\begin{aligned}
 & P(A, B, C) \odot P(A', C, C') \\
 & \leq \bigvee_{c \in X} \left(A(a) \odot B(b) \odot e_X(a * b, c) \odot A'(a') \odot e_X(a' * c, c') \right) \rightarrow C'(c') \\
 & \leq A(a) \odot A'(a') \odot e_X(a * a', w) \odot B(b) \odot e_X(w * b, c') \rightarrow C'(c').
 \end{aligned}$$

Then we get

$$\begin{aligned}
 & P(A, B, C) \odot P(A', C, C') \\
 & \leq \bigwedge_{a, a'} \left(A(a) \odot A'(a') \odot e_X(a * a', w) \odot B(b) \odot e_X(w * b, c') \rightarrow C'(c') \right) \\
 & = \left(\bigvee_{a, a'} \left(A(a) \odot A'(a') \odot e_X(a * a', w) \right) \odot B(b) \odot e_X(w * b, c') \right) \rightarrow C'(c').
 \end{aligned}$$

Put $D(w) = (A \otimes A')(w) = \bigvee_{a, a'} (A(a) \odot A'(a') \odot e_X(a * a', w))$. Then

$$\begin{aligned}
 & P(A, B, C) \odot P(A', C, C') \\
 & \leq \bigwedge_w (D(w) \rightarrow D(w)) \odot \bigwedge_{c'} \left(\bigvee_{b, w} (D(w) \odot B(b) \odot e_X(w * b, c')) \rightarrow C'(c') \right) \\
 & \leq \bigvee_D P(A', A, D) \odot P(D, B, C').
 \end{aligned}$$

(2) (P5) Since $E \otimes B = B$ for $B \in W(L^X)$ and $E(1) = 1, E(x) = 0$, otherwise,

$$\begin{aligned}
 \bigvee_A P(A, B, B) & = \bigvee_A \left(\bigwedge_{x \in X} ((A \otimes B)(x) \rightarrow B(x)) \right) \\
 & \geq \bigwedge_{x \in X} ((E \otimes B)(x) \rightarrow B(x)) = 1.
 \end{aligned}$$

(P6) Since $A \otimes B \geq A$ and $A \otimes B \geq B$ for $A, B \in W(L^X)$ from Theorem 3.13(1), we have

$$P(A, B, C) \leq e_{W(L^X)}(A, C) \text{ and } P(A, B, C) \leq e_{W(L^X)}(B, C).$$

Then $P(A, B, C) \leq e_{W(L^X)}(A, C) \wedge e_{W(L^X)}(B, C)$. \square

Example 3.15. Let $(L, \wedge, \vee, \odot, \rightarrow, 0, 1)$ be a c-quantale and $(X, \vee, \wedge, *, \nearrow, 0, 1)$ be an sc-quantale with a fuzzy partially order e_X and $P(x, y, z) = e_X(x * y, z)$ for each $x, y, z \in X$ in Example 3.4 (2).

(1) By Example 3.4 (2), (X, e_X, P) is a cq-frame.

$$(2) \quad \tau_{e_X} = \{A \in L^X \mid A(x) \odot e_X(x, y) \leq A(y)\}$$

$$= \{A \in L^X \mid \bigvee_{x \leq y} A(x) \leq A(y)\}$$

$$= \{A \in L^X \mid A(x) \leq A(y), x \leq y\}.$$

(3) By Theorem 3.9 (1), for $A, B \in \tau_{e_X}$,

$$(A \otimes B)(z) = \bigvee_{x, y \in X} (P(x, y, z) \odot A(x) \odot B(y))$$

$$= \bigvee_{x * y \leq z} (A(x) \odot B(y))$$

$$= \bigvee_{y \in X} (A(y \nearrow z) \odot B(y))$$

$$= \bigvee_{x \in X} (A(x) \odot B(x \nearrow z)),$$

$$(A \Rightarrow B)(x) = \bigwedge_{y, z \in X} (P(x, y, z) \odot A(y) \rightarrow B(z))$$

$$= \bigwedge_{x \leq (y \nearrow z)} (A(y) \rightarrow B(z))$$

$$= \bigwedge_{z \in X} (A(x \nearrow z) \rightarrow B(z))$$

$$= \bigwedge_{y \in X} (A(y) \rightarrow B(x * y)).$$

Then $(\tau_{e_X}, \vee, \wedge, \otimes, \Rightarrow, 0_X, 1_X)$ is a c-quantale.

(4) If $A, B \in \tau_{e_X}$ with $A(1) = B(1) = 1$, then

$$(A \otimes B)(z) = \bigvee_{x * y \leq z} (A(x) \odot B(y)) \geq A(z) \odot A(1) = A(z),$$

that is, $A \otimes B \geq A, A \otimes B \geq B$ and, for $E(1) = 1, E(x) = 0$, otherwise, $A \otimes E = A$ with $E \in \tau_{e_X}$.

(5) Let $A, B \in M(L^X)$, where $M(L^X) = \{A \in M(L^X) \mid A(a * b) \geq A(a) \odot A(b)\}$. Since $a \leq b$ and $c \leq d, a * c \leq b * d$. Then $e_X(a, b) \odot e_X(c, d) \leq e_X(a * c, b * d)$. Thus $A \otimes B \in M(L^X)$.

(6) If $A \in M(L^X) \cap \tau_{e_X}, e_X(a, b) \odot e_X(c, d) \leq e_X(a * c, b * d)$, then $A \otimes A \leq A$ from:

$$(A \otimes A)(a) = \bigvee_{x * y \leq a} (A(x) \odot A(y)) \geq A(a) \odot A(1) = A(a),$$

$$(A \otimes A)(a) = \bigvee_{x, y \in X} (A(x) \odot A(y) \odot e_X(x * y, a))$$

$$\leq \bigvee_{x, y \in X} (A(x * y) \odot e_X(x * y, a)) \leq A(a).$$

If $A(1) = 1$, then $A \otimes A \geq A$ from:

$$(A \otimes A)(z) = \bigvee_{x * y \leq z} (A(x) \odot A(y)) \geq A(z) \odot A(1) = A(z).$$

(7) Put $W(L^X) = \{A \in L^X \mid A(1) = 1\}$. Define $P : W(L^X) \times W(L^X) \times W(L^X) \rightarrow L$ as follows:

$$P(A, B, C) = \bigwedge_{x \in X} ((A \otimes B)(x) \rightarrow C(x)).$$

(P5) Since $E \otimes B = B$ from (4),

$$\bigvee_A P(A, B, B) = \bigvee_A \left(\bigwedge_{x \in X} ((A \otimes B)(x) \rightarrow B(x)) \right)$$

$$\geq \bigwedge_{x \in X} ((E \otimes B)(x) \rightarrow B(x)) = 1.$$

(P6) Since $A \otimes B \geq A$ and $A \otimes B \geq B$, we have

$$P(A, B, C) \leq e_{W(L^X)}(A, C) \text{ and } P(A, B, C) \leq e_{W(L^X)}(B, C).$$

Then $P(A, B, C) \leq e_{W(L^X)}(A, C) \wedge e_{W(L^X)}(B, C)$. Thus $(W(L^X), e_{W(L^X)}, P)$ is an sq-frame.

Example 3.16. Let $(L, \wedge, \vee, \odot, \rightarrow, 0, 1)$ on $L = \{0, \frac{1}{4}, \frac{1}{2}, \frac{3}{4}, 1\}$ and $(X, \wedge, \vee, *, \nearrow, 0, 1)$ be two sc-quantales with an r-fuzzy poset (X, e_X) as in Example 3.4 (5).

For $A = (0, \frac{1}{4}, \frac{1}{2}, 0)$, since $\frac{1}{2} = A(y) \odot e_X(y, 1) \not\leq A(1) = 0$, $A \notin \tau_{e_X}$. Put $\bar{A} = \bigvee_{x \in X} (A(x) \odot e_X(x, y)) = (0, \frac{1}{4}, \frac{1}{2}, \frac{1}{2})$. Then $\bar{A} \in \tau_{e_X}$.

For $B = (\frac{1}{2}, \frac{1}{2}, \frac{3}{4}, \frac{1}{4})$, Since $\frac{3}{4} = B(y) \odot e_X(y, 1) \not\leq B(1) = \frac{1}{4}$, $B \notin \tau_{e_X}$. Put $\bar{B} = \bigvee_{x \in X} (B(x) \odot e_X(x, y)) = (\frac{1}{2}, \frac{1}{2}, \frac{3}{4}, \frac{3}{4})$. Then $\bar{B} \in \tau_{e_X}$.

For $\bar{A}, \bar{B} \in \tau_{e_X}$,

$$\begin{aligned} (\bar{A} \otimes \bar{B})(z) &= \bigvee_{x \in X} (\bar{A}(x) \odot \bar{B}(x \nearrow z)) \\ &= \bigvee_{y \in X} (\bar{A}(y \nearrow z) \odot \bar{B}(y)) \\ &= (0, 0, \frac{1}{4}, \frac{1}{4}), \end{aligned}$$

$$\begin{aligned} (\bar{A} \Rightarrow \bar{B})(x) &= \bigwedge_{y \in X} (\bar{A}(y) \rightarrow \bar{B}(x \odot y)) \\ &= \bigwedge_{z \in X} (\bar{A}(x \nearrow z) \rightarrow \bar{B}(z)) \\ &= (1, 1, 1, 1), \end{aligned}$$

$$\begin{aligned} (\bar{B} \Rightarrow \bar{A})(x) &= \bigwedge_{y \in X} (\bar{B}(y) \rightarrow \bar{A}(x \odot y)) \\ &= \bigwedge_{z \in X} (\bar{B}(x \nearrow z) \rightarrow \bar{A}(z)) \\ &= (\frac{1}{4}, \frac{1}{2}, \frac{3}{4}, \frac{3}{4}). \end{aligned}$$

In Theorem 3.9 (2), $1 = e_X(x * x, 0) \not\leq e_X(x, 0) \wedge e_X(x, 0) = \frac{1}{2}$. For $1_X \in \tau_{e_X}$,

$$\bar{A} \otimes 1_X = \bigvee_{x \in X} (\bar{A}(x) \odot 1_X(x \nearrow z)) = (\frac{1}{2}, \frac{1}{2}, \frac{1}{2}, \frac{1}{2}) \geq \bar{A},$$

$$\bar{B} \otimes 1_X = \bigvee_{x \in X} (\bar{B}(x) \odot 1_X(x \nearrow z)) = (\frac{3}{4}, \frac{3}{4}, \frac{3}{4}, \frac{3}{4}) \geq \bar{B}.$$

For $E = (1, 0, 0, 0)$, $\bar{E} = \bigvee_{x \in X} (E(x) \odot e_X(x, y)) = 1_X$, $\bar{B} \otimes E = \bar{B}$.

Then $(\tau_{e_X}, \vee, \wedge, \otimes, \Rightarrow, 0_X, 1_X)$ is a c-quantale but not a sc-quantale.

Example 3.17. Let $(X = [0, \infty], \leq_{op}, \vee_{op}, +, \wedge_{op}, \infty, 0)$ be an sc-quantale where $\leq_{op} = \geq, \vee_{op} = \wedge, \wedge_{op} = \vee$ and

$$\begin{aligned} x \nearrow y &= \bigvee_{op} \{z \in [0, \infty] \mid x + z \leq_{op} y\} \\ &= \bigwedge \{z \in [0, \infty] \mid z \geq -x + y\} \\ &= (y - x) \vee 0, \end{aligned}$$

$$e_X^0(x, y) = \begin{cases} 0 & \text{if } x \geq y \\ \infty & \text{if } x < y. \end{cases}$$

Define $P(x, y, z) = e_X^0(x + y, z)$ for each $x, y, z \in [0, \infty]$.

(1) By Theorem 3.3, $([0, \infty], e_X^0, P)$ is a cq-frame with (P5)

$$\bigvee_{x \in X} P(x, y, y) = \bigvee_{op} e_X^0(x + y, y) \geq_{op} e_X^\infty(0 + y, y) = 0.$$

But $0 = e_X^0(2 + 3, 4) \not\leq_{op} e_X^0(2, 4) \wedge e_X^0(3, 4) = \infty$. Then $([0, \infty], e_X^0, P)$ is not an scq-frame.

$$\begin{aligned} (2) \quad \tau_{e_X^0} &= \{A \in [0, \infty]^{[0, \infty]} \mid A(x) + e_X^0(x, y) \leq_{op} A(y)\} \\ &= \{A \in [0, \infty]^{[0, \infty]} \mid \bigwedge_{x \geq y} A(x) \leq_{op} A(y)\} \\ &= \{A \in [0, \infty]^{[0, \infty]} \mid A(x) \geq A(y), x \geq y\}, \end{aligned}$$

because $A(x) \geq \bigwedge_{x \geq y} A(x) \geq A(y)$ for $y \leq x$.

(3) For $A, B \in \tau_{e_X^0}$, we define

$$\begin{aligned} (A \otimes B)(z) &= (\bigvee_{op})_{x,y \in X} (P(x, y, z) + A(x) + B(y)) \\ &= \bigwedge_{x+y \geq z} (A(x) + B(y)) \\ &= \bigwedge_{y \in X} (A((z - y) \vee 0) + B(y)) \\ &= \bigwedge_{x \in X} (A(x) + B((z - x) \vee 0)), \end{aligned}$$

$$\begin{aligned} (A \Rightarrow B)(x) &= (\bigwedge_{op})_{y,z \in X} (P(x, y, z) + A(y)) \nearrow B(z) \\ &= \bigvee_{x \geq (-y+z) \vee 0} ((B(z) - A(y)) \vee 0) \\ &= \bigvee_{z \in X} ((B(z) - A((z - x) \vee 0)) \vee 0) \\ &= \bigvee_{y \in X} ((B(x + y) - A(y)) \vee 0). \end{aligned}$$

Then $(\tau_{e_X^0}, \leq_{op} = \geq, \bigvee_{op}, \bigwedge_{op}, \otimes, \Rightarrow, \infty_X, 0_X)$ is a c-quantale where $0_X(x) = 0$ and $\infty_X(x) = \infty$ for each $x \in [0, \infty]$.

(4) If $A, B \in \tau_{e_X^0}$ with $A(0) = B(0) = 0$, then

$$(A \otimes B)(z) = \bigwedge_{x+y \geq z} (A(x) + B(y)) \leq A(z) + A(0) = A(z).$$

Thus $A \otimes B \geq_{op} A$, $A \otimes B \geq_{op} B$ and, for $E(0) = 0, E(x) = \infty$, otherwise, $A \otimes E = A$ with $E \in \tau_{e_X^0}$.

(5) Let $A, B \in M([0, \infty]^{[0, \infty]})$, where

$$M([0, \infty]^{[0, \infty]}) = \{A \in [0, \infty]^{[0, \infty]} \mid A(a + b) \geq_{op} A(a) + A(b)\}.$$

Since $a \geq b$ and $c \geq d$, $a + c \geq b + d$. Then $e_X^0(a, b) + e_X^0(c, d) \leq_{op} e_X^0(a + c, b + d)$. Thus $A \otimes B \in M([0, \infty]^{[0, \infty]})$.

(6) Let $A \in M([0, \infty]^{[0, \infty]}) \cap \tau_{e_X^0}$. Since $e_X^0(a, b) + e_X^0(c, d) \leq_{op} e_X^0(a + c, b + d)$, $A \otimes A \geq A$ from:

$$\begin{aligned} (A \otimes A)(a) &= (\bigvee_{op})_{x,y \in X} (A(x) + A(y) + e_X^0(x + y, a)) \\ &\leq_{op} (\bigvee_{op})_{x,y \in X} (A(x + y) + e_X^0(x + y, a)) \\ &\leq_{op} A(a). \end{aligned}$$

If $A(0) = 0$, then $A \otimes A \leq A$ from:

$$(A \otimes A)(a) = \bigwedge_{x+y \geq z} (A(x) + A(y)) \leq A(a) + A(0) = A(a).$$

(7) Put $W([0, \infty]^{[0, \infty]}) = \{A \in [0, \infty]^{[0, \infty]} \mid A(0) = 0\}$. Define

$$P : W([0, \infty]^{[0, \infty]}) \times W([0, \infty]^{[0, \infty]}) \times W([0, \infty]^{[0, \infty]}) \rightarrow [0, \infty]$$

as follows:

$$P(A, B, C) = (\bigwedge_{op})_{x \in X} ((A \otimes B)(x) \nearrow C(x)).$$

(P5) Since $E \otimes B = B$, from (4),

$$\begin{aligned} (\bigvee_{op})_A P(A, B, B) &= (\bigvee_{op})_A \left((\bigwedge_{op})_{x \in X} ((A \otimes B)(x) \nearrow B(x)) \right) \\ &\geq_{op} (\bigwedge_{op})_{x \in X} ((E \otimes B)(x) \nearrow B(x)) = 0. \end{aligned}$$

(P6) Since $A \otimes B \geq_{op} A$ and $A \otimes B \geq_{op} B$, we have

$$P(A, B, C) \leq_{op} e_{W([0, \infty]^{[0, \infty]})}(A, C) \text{ and } P(A, B, C) \leq_{op} e_{W([0, \infty]^{[0, \infty]})}(B, C).$$

Then we get

$$P(A, B, C) \leq_{op} e_{W([0, \infty]^{[0, \infty]})}(A, C) \wedge_{op} e_{W([0, \infty]^{[0, \infty]})}(B, C).$$

Thus $(W([0, \infty]^{[0, \infty]}), e_{W([0, \infty]^{[0, \infty]})}, P)$ is an scq-frame.

Example 3.18. Let $(P(X), \cap, \cup, \odot = \cap, \nearrow, \emptyset, X)$ be an sc-quantale, where

$$A \nearrow B = \bigcup \{C \in P(X) \mid A \cap C \subset B\} = A^c \cup B.$$

(1) Define a map $e^1 : P(X) \times P(X) \rightarrow P(X)$ as

$$e^1(A, B) = A \nearrow B = A^c \cup B.$$

Then $(P(X), e^1)$ is a fuzzy poset.

(2) $(P(X), e^1, P^1)$ is a cq-frame, where $P^1(A, B, C) = e^1(A \cap B, C)$ for each $A, B, C \in P(X)$ from Theorem 3.3. But it is not an sc-quantale frame, because $X = \{a, b, c\}, A = \{a, b\}, B = \{b, c\}$ and $P^1(A, B, A) = e^1(A \cap B, A) = X \not\subset e^1(A, A) \cap e^1(B, A) = \{a, b\}$.

(3) Let $\tau_{e^1} = \{\alpha \in P(X)^{P(X)} \mid \alpha(A) \cap e^1(A, B) \subset \alpha(B)\}$. For $\alpha, \beta \in \tau_{e^1}$, we define

$$\begin{aligned} (\alpha \otimes \beta)(C) &= \bigvee_{A, B \in P(X)} (e^1(A \cap B, C) \cap \alpha(A) \cap \beta(B)) \\ &= \bigvee_{B \in P(X)} (\alpha(B^c \cup C) \cap \beta(B)) \\ &= \bigvee_{A \in P(X)} (\alpha(A) \cap \beta(A^c \cup C)), \end{aligned}$$

$$\begin{aligned} (\alpha \Rightarrow \beta)(A) &= \bigwedge_{B, C \in P(X)} (e^1(A \cap B, C) \cap \alpha(B) \nearrow \beta(C)) \\ &= \bigwedge_{B \in P(X)} (\alpha(A^c \cup B) \nearrow \beta(B)) \\ &= \bigwedge_{C \in P(X)} (\alpha(C) \nearrow \beta(A \cap C)). \end{aligned}$$

Then $(\tau_{e^1}, \vee, \wedge, \otimes, \Rightarrow, 0_{P(X)}, 1_{P(X)})$ is a commutative co-quantale, where $0_{P(X)}(A) = \emptyset, 1_{P(X)}(A) = X$ for each $A \in P(X)$.

(4) If $\alpha, \beta \in \tau_{e^1}$ with $\alpha(X) = \beta(X) = X$, then

$$(\alpha \otimes \beta)(C) \supset e^1(C \cap X, C) \cap \alpha(C) \cap \beta(X) = \alpha(C).$$

For $\gamma(X) = X, \gamma(A) = \emptyset$, otherwise, we have $\gamma \in \tau_{e^1}$,

$$(\alpha \otimes \gamma)(C) = e^1(C \cap X, C) \cap \alpha(C) \cap \gamma(X) = \alpha(C).$$

Thus $\alpha \otimes \beta \supset \alpha, \alpha \otimes \beta \supset \beta$ and $\alpha \otimes \gamma = \alpha$.

(5) Let $\alpha, \beta \in M(P(X)^{P(X)})$, where

$$M(P(X)^{P(X)}) = \{\alpha \in P(X)^{P(X)} \mid \alpha(A \cap B) \supset \alpha(A) \cap \alpha(B)\}.$$

Then by Theorem 3.13 (2), $\alpha \otimes \beta \in M(P(X)^{P(X)})$.

(6) If $\alpha \in M(P(X)^{P(X)}) \cap \tau_{e^1}$ and $\alpha(X) = X$, then $\alpha \otimes \alpha = \alpha$ from:

$$(\alpha \otimes \alpha)(C) \supset e^1(C \cap X, C) \cap \alpha(C) \cap \alpha(X) = \alpha(C),$$

$$\begin{aligned} (\alpha \otimes \alpha)(C) &= \bigvee_{A, B \in P(X)} (e^1(A \cap B, C) \cap \alpha(A) \cap \alpha(B)) \\ &\subset \bigvee_{A, B \in P(X)} (e^1(A \cap B, C) \cap \alpha(A \cap B)) \\ &\subset \alpha(C). \end{aligned}$$

(7) Put $W(\tau_{e^1}) = \{\alpha \in \tau_{e^1} \mid \alpha(X) = X\}$. Define $e_W : W(\tau_{e^1}) \times W(\tau_{e^1}) \rightarrow P(X)$ and $P : W(\tau_{e^1}) \times W(\tau_{e^1}) \times W(\tau_{e^1}) \rightarrow P(X)$ as follows:

$$\begin{aligned} e_W(\alpha, \beta) &= \bigwedge_{A \in P(X)} ((\alpha(A) \nearrow \beta(A))), \\ P(\alpha, \beta, \eta) &= \bigwedge_{A \in P(X)} ((\alpha \otimes \beta)(A) \nearrow \eta(A)) = e_W(\alpha \otimes \beta, \eta). \end{aligned}$$

(P5) Since $\beta \otimes \gamma = \beta$, from (4),

$$\begin{aligned} \bigvee_{\alpha} P(\alpha, \beta, \beta) &= \bigvee_{\alpha} \left(\bigwedge_{A \in P(X)} ((\alpha \otimes \beta)(A) \nearrow \beta(A)) \right) \\ &\geq \bigwedge_{A \in P(X)} ((\gamma \otimes \beta)(A) \nearrow \beta(A)) = X. \end{aligned}$$

(P6) Since $\alpha \otimes \beta \supset \alpha$ and $\alpha \otimes \beta \supset \beta$, we have

$$P(\alpha, \beta, \eta) \subset e_W(\alpha, \eta) \text{ and } P(\alpha, \beta, \eta) \subset e_W(\alpha, \eta).$$

Then $P(\alpha, \beta, \eta) \subset e_W(\alpha, \eta) \cap e_W(\beta, \eta)$. Thus $(W(P(X)^{P(X)}), e_W, P)$ is an scq-frame.

Funding: This work was supported by the Research Institute of Natural Science of Gangneung-Wonju National University.

REFERENCES

- [1] C. J. Mulvey, *Quantales*, Suppl. Rend. Cric. Mat. Palermo Ser.II 12 (1986) 99–104.
- [2] C. J. Mulvey and J. W. Pelletier, On the quantisation of point, *J. of Pure and Applied Algebra* 159 (2001) 231–295.
- [3] U. Höhle and E. P. Klement, *Non-classical logic and their applications to fuzzy subsets*, Kluwer Academic Publisher, Boston 1995.
- [4] U. Höhle and S. E. Rodabaugh, *Mathematics of Fuzzy Sets: Logic, Topology, and Measure Theory*, The Handbooks of Fuzzy Sets Series 3, Kluwer Academic Publishers, Boston 1999.
- [5] R. Ciro, An extension of Stone duality to fuzzy topologies and MV-algebras, *Fuzzy Sets and Systems* 303 (2016) 80–96.
- [6] N. Galatos and P. Jipsen, Residuated frames with applications to decidability, *Transactions of the American Mathematical Soc.* 365 (3) (2013) 1219–1249.
- [7] N. Galatos and P. Jipsen, Distributive residuated frames and generalized bunched implication algebras, *Algebra universalis* 78 (3) (2017) 303–336.
- [8] E. Orłowska and I. Rewitzky, *Context algebras, context frames and their discrete duality*; Springer: *Transactions on Rough Sets IX*, Berlin 2008, 212–229.
- [9] E. Orłowska and I. Rewitzky, Algebras for Galois-style connections and their discrete duality. *Fuzzy Sets and Systems* 161 (2010) 1325–1342.
- [10] H. Zhou and H. Shi, Stone duality for R_0 -algebras with internal states. *Iranian Journal of Fuzzy Systems* 14 (4) (2017) 139–161.
- [11] J. M. Oh and Y. C. Kim, The relations between residuated frames and residuated connections, *Mathematics* 8 (2) (2020) 295.
- [12] J. M. Oh and Y. C. Kim, Fuzzy Galois connections on Alexandrov L -topologies, *Journal of Intelligent and Fuzzy Systems* 40 (2021) 251–270.
- [13] R. Bělohlávek, *Fuzzy Relational Systems*, Kluwer Academic Publishers, New York 2002.
- [14] E. Turunen, *Mathematics Behind Fuzzy Logic*; A Springer-Verlag Co.: 1999.

JU-MOK OH (jumokoh@gwnu.ac.kr)

Department of Mathematics, Faculty of Natural Science, University of Gangneung-Wonju, Gangneung, Gangwondo, 25457, Korea

YONG CHAN KIM (yck@gwnu.ac.kr)

Department of Mathematics, Faculty of Natural Science, University of Gangneung-Wonju, Gangneung, Gangwondo, 25457, Korea